
21 June 2012 Thursday Race Result Ankara Racecourse (31st Day)

55th Race  Starts At:16:00 Maiden/DHÖW 57 kg, 1200 Turf

Prize 1.) 23.000 t 2.) 9.200 t 3.) 4.600 t 4.) 2.300 t
Breeders Premium 1.) 5.750 t 2.) 2.300 t 3.) 1.150 t 4.) 575 t

Silk Result Horse Name Age Sire Dam Weight Jockey Owner Trainer Time Win PSF St Margin Late Start RT

1 AHPAR(1) 3yo gr c YAŞARCIK - GULİS 57 Ö.KAYA N. CEH. ADVAN Z.KISA 1.21.11 1,35 5 2 Lengths 42

2 MARKUS(13) 3yo ch f AĞABATUR - YARALI CEYLAN 51 GÖKH.YILMAZ MAH. TEKİNALP A.TEKİNALP 1.21.37 11,60 2 Half Length 33

3 MERTYUSUF(7) 3yo gr c ERBEYİM - ÖZ ÇALDIRAN 57 M.AKYAVUZ MÜS. KATI M.BATMAN 1.21.46 2,35 4 1,5 Lengths

4 CANYELDA(10) 3yo gr f YELHAN - ZEHRA.118 55 MÜS.ÇELİK ABD. KAYA G.KARABULUT 1.21.75 6,30 3 40

5 AHUELA(8) 3yo ch f KOCAREİS - AKÇAY GELİNİ 55 E.SİNCAN ALA. KARACA H.KAYAŞ 1.21.78 21,80 13

6 HULUSİBEY*(4) 3yo gr c DOĞANGÜN - ELAGÖZLÜM 54 H.POLAT M. BOZ. UÇAR F.DEMİR 1.21.93 27,55 1 30

7 FAKI BEY(3) 3yo gr c GOBAKBEY - KİNEMTUMBUL 52 O.FİDAN İMA. KATI M.BATMAN 1.22.17 5,75 9

8 KIRNIÇEFENDİ(5) 3yo gr c ZENGİNOĞLU - GİZAY 57 B.GÖKÇE MUS. ALAK B.AKYOL 1.23.23 13,60 6

9 AL EŞREF(2) 3yo ch c HALİD - FAZILA.27 53 M.AVŞAR MUH. YILDIZ Y.KONUK 1.24.21 7,95 7

10 DELİ ÇIRRE(11) 3yo gr f TATARCIK - TURAÇ 55 M.TARHAN ALİ KILIÇ F.DEMİR 1.24.32 69,85 14

11 ÖZÜM ÜLKÜ(14) 3yo ch f BAYKARAM - KONUKKIZI 50 S.ERKUŞ MEH. KURTGÖZ R.ATLI 1.25.64 87,30 15

12 PİSTİNSULTANI(15) 3yo gr f ANTEPLİ - YÜKSELİŞ 51 H.KILIÇARSLAN SAM. ÖZKAN M.GÖKÇE 1.26.34 26,15 12

13 KIR CALİBE(12) 3yo gr f SERDARBEY - CALİBE 50 MAH.TURAN BED. ARSLAN Y.YILDIZ 1.26.98 32,70 11

14 BÜYÜKANNE(9) 3yo ch f ANADOLU ATEŞİ - NESLİAY 53 İ.GÖÇER SEN. GÖZEL Y.İŞGÜZAR 1.28.89 30,80 8

15 KOŞAN ÖZGÜR(6) 3yo gr c ERBEYİM - UFUKCAN 57 ERDAL YAVUZ ALİ ÇELİK N.GÜVEN 1.31.60 29,10 10

Pick(1) :1,35 t, Quinella(1/13) :8,50 t, Exacta(1/13) :10,85 t, Place(1) :1,05 t, Place(13) :1,05 t, Place Quinella(1/13) :7,30 t, Place Quinella(1/7) :3,20 t, Place Quinella(7/13) :8,80 t, Superfecta(1/13/7/10)
:16,20 t, Quartet(1/13/7/10) :0,42 t


